e getou

H 643% %, 29

[¢]

3

AY2

< | = —
o |5 R o
F <
o |<F %Mw% = = = < ,
wao_rﬂo__% }TL @ & O_Ewm_ m M 3 ™
wAO L_/no 32 ~° i’ - ZT._ Ml_._._ B = JH 0 il
(™ % o cL<TE I TR o
: n 0 R T2 9L s = A
| s - . 9 o o s = 2 A <
h N ST, R Mwm%oo]m%% . 5 .
X o ; . — N 10 T
< | & ghaw 2 wmwmo# S B
“IF g O g Sms I Pk =D
. x B w wﬁuw_}_a%f/ Hnoox
RO & P B Tl a — T oo < D
o 5 emT%V_AE 8 kSmo%\ﬂwm_a 5 TR DK &
oK N mMﬂHw.L o d.ﬂm_wmﬁld.,mﬂ = B ,,3
Qoo =y Be N o) B sk B X o) o N woor W o)
El og 15 ) Ho T =y F oo o 2 o) s Kk 2y XH
~ Y cn No ..._.Lﬂ._ e o —_ rl 0 O_O o ‘m.wo N T = N
0 Ly S - I N VI
T D oo B ﬂoh3% I o T 2D o
7o 7K ‘Mwo TR o Wmud Pk =0 % Wm Mw = T nf ..,Ho% TR O Mﬂ |Mrn 70
R - TS W %@@mﬁ%Wﬂ. 2 T e T
u ~ T “ —
" o = O AL = dF o T o O
2 oA ) MT aw % " ﬂmmu * w,_m ® o e wa ™
o ] : 9 =~ R K
e p Food R g zﬂiwﬁ@%p R MTﬁmmﬂ
i & 7 XA = LEM;TM = % o ow B OW
7l > ) s |1o|_|
i i N T %ﬂowX%mﬂmﬂr . E%MOW:_.
=) ! _\wmouwa. 1&%&&. dgr & X o H P
BO A _,_m,_éwwqb o Bo = do & T = @ m TS
o - Bo z,_,mo K ‘_Qoq_u_.ono —~ O _ — ,zuz_.B
0 = =0 _,_wmuwmﬁwo@.nﬁ w )ﬂonono,
= 0 ® B X T P _wnr,_w_ﬂ_m\w
N © | o o e T
W-A N—"
O
H O




a1 1| 25 ug 3 Mg
o Z d¥(231€ 7F)
(2t mm)
7|2t 23d & 22128 '23.14
7 gy | 28 H[2%) "d | 8 w2 BA 23 8S(%)
o = 25.7 35.3 137.8 22.8 13.7 60.0 25.7 35.3 137.8
s & 23.6 40.4 171.2 22.0 10.0 454 23.6 404 171.2
otM M 23.0 36.5 158.8 23.6 22.6 95.6 23.0 36.5 158.8
=Ss 23.2 30.5 131.7 17.7 74 41.7 23.2 30.5 131.7
o 32.3 15.1 46.8 22.2 59 26.6 32.3 15.1 46.8
Ef st 34.3 39.1 114.0 23.0 9.3 40.3 34.3 39.1 114.0
=2 & 28.0 29.3 104.9 27.3 19.9 72.8 28.0 29.3 104.9
AFm A 26.5 31.1 1174 29.1 28.1 96.7 26.5 31.1 1174
Hd 32.1 26.8 83.6 31.3 32.3 103.1 32.1 26.8 83.6
Sz 37.2 26.7 7.7 38.5 56.2 146.1 37.2 26.7 "7
Nz 334 41.7 124.9 28.2 26.2 92.8 334 41.7 124.9
s A 35.6 34.5 97.1 32.3 28.2 87.4 35.6 34.5 97.1
Bz 29.7 67.7 | 2281 26.1 14.2 54.3 29.7 67.7 | 228.1
S (BH) TIME 607 BEL T|E, D EY e Z5H 80| JHE M2 A
O 71747 370E AR (2329 ~'23.49)
78 Yo yale
2328 | BU(7.5~449m)3} Bl 23HAL He | BU(06~18T)T bl
2338 | B (427~585m)} o] H14(56~66C) 20} =8
2348 | HU(703~99.3m)2} 8] HA(11.6~12677)2 vl 2317L &2




X A al ;a3
dd 2 | N g X S=H=
T HE(2319% 7F)
(St © s2im?)
T8 O & UM S 4Z g5 SUEX T
) o | BB s | B8 o | B8 o | B8
EE oAd | B3 | oy |0 | B | oF | o | B | of | ol | B | o)
A |64755(63132| 975[1,206.0(1271.2| 1054| 207.0| 1972 95.3|1,8488|1,7266| 934
st2t |2960.9/3,431.4| 1159/1,2025/1,269.7| 1056 141 137 968 289.9| 317.1| 109.4
<HEZ 11,528.1]1,2600 825 - - 181.4| 1523 84.0| 450.8) 4129/ 916
22 1278212437, 973 - - - - - - | 3992| 4287| 107.4
Az | 7083 3782 534/ 35 15| 4200 115 313 2719 7089 5679 80.1
w [eH2]2 ohdA, [HEze dilzbelsiz (3218 MU, [F2 i, SN, drig 9 BRI A Alde 23
- =AY
g g a e
FA | oA (84 Bbm) (%) << (/%)
T 2 Hy | R | e zeed
() | ELm) | ELm) | B B o | m) | o | 2=
Mg | e
s A 12923 | 6342 | 49 | 48 | 571
5 [ &% | 2703 | 1980 | 1797 | 2900 | 1700 | 59 | 49 | 88 | 70 0
S LB 36648 | 1450 | 1345 | 2750 | 1,683 | 61 47 | 32 0 0
- 18 M| 209 | 1800 | 1754 87 62 71 52 | 239 2 0
ob = | 1584 | 1617 | 1447 | 1,248 561 45 | 47 | 868 0 0
ol sh| 1,361 | 1647 | 143.1 595 188 3 | 4 599 0 0
M o= | 413 | 3649 | 3505 28 12 42 | 52 | 789 0 0
Lo =P ] 5000 | 1640 | 1492 181 67 37 | 44 | 456 2 0
o .= %1 | 875 | 2051 | 187.1 49 14 28 | 42 | 805 0 0
2 |zt | 820 | 1986 | 1815 54 22 40 | 56 | 793 1 0
S | EEA | 326 | 2385 | 2159 22 3 15 | 40 | 1,148 | 0 0
st M| 95 | 1790 | 1484 | 790 237 30 | 46 | 1,197 | 0 0
e Zb | 2285 | 460 385 309 118 38 | 39 | 167 0 0
o oF| 954 | 2102 | 1948 74 47 64 | 56 | 551 1 0
2 | 8 =] 930 | 2655 | 2483 | 815 349 43 | 51 | 1,001 | 16 0
Z o & | 3204 | 800 708 | 1490 855 57 | 56 | 397 0 0
M| MAZ | 763 | 1977 | 1770 | 466 9 20 | 39 | 980 0 0
Z | F eb| 1,145 | 1105 | 940 707 189 27 | 48 | 883 0 0
ST M= 438 39.0 50 36 71 58| 469 0 0
e 2.3 1636 | 755 64.5 117 45 38 | 42 | 881 0 0
¥ 5| 193 | 828 66.9 191 64 34 | 45 [ 1316 ] 0 0
F 1) MeZeY  HASAoM ALSTANK MBSl slYsts LTHRES 50%)
2) dFH2 E30A Mo AMEES &



P
- &9
S S =
79 A =Ry (48 3kme) (%) e (/%)
T B A 22| =2 e
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
xser | maa | © ; = | as
B 4449 | 1981 | 45 | 45 | 573
3t | == | 1250 | 6720 | 6702 | 131 76 58 | 54 | 136 | 00 | 00
2 | e 094 120 | 11037 87 6.2 7171763 487 | 00 | 00
o™ | 2350 | 1568 | 1457 | 1032 | 350 | 34 | 39 | 5/5 | 00 | 00
o | 67 | 439 | 397 185|119 e 60 [1s12 | = 00
Ztz 37 | 400 | 393 26 20 77 | 56 | 494 | - | 00
Lol eE  s0rs | a0 |05 603 [ 783 a9 | a6 | s87 | 00 | 00
- | o= | 575 | 1200 | 1030 | 362 52 14 173377783 | 00 | 00
S | Ak | e70 | 600 | 468 | 303 6.0 20 |73 e S o0
S g 770 | 485 | 479 13.1 5.8 44740 835 |- 00
Aot 12 1300 | 266 20 15 73 783 1080 | - | 00
oix | 117 | 480 | 458 52 31 60 | 47 7780 | = | 00
285 27 930 | 796 10.0 4.2 42765 a8 |2 00
o | = 400 | 640 | 625 | 313 | 280 | 89 | 58 | 54 | 00 | 00
S - e T 10 A T~ X B B O 33 I I 7 e )
sazreat : sl M HYESUNK KBl fLots LLB(REES 50%)
e
X %2t 48 Abgt ubs 2
g47) | w (s 5bm) (%) 2| (m/%)
o= Mgl | 4 mm
(EL.m) (EL.m) = R _ REE =l
sr | ol =]
ST TS T e B B N o e
= 15411 | 12726 | 826 | 718 | 2829 | - -
st M | 1750 | 1733 | 9082 | 6843 | 754 | 567 | 1881 | 233 | -
= H | 1020 | 1025 | 1393 | 1325 | 952 | 954 | 124 | 252 | -
s | 2| 708 710 85.7 781 | 911 | 913 | 386 | 953 | -
2 o 50.0 505 1627 | 1518 | 933 | 935 | 69 | 1041 | -
3 A | 1340 | 1340 9.7 86 | 753 | 697 | 60 | 48 -
Z o - 25 1 2300 | 2158 | 938 | 946 | 93 | 1397 | -
Mz | 2MZ | 1269 | 1243 56 14 | 250 | 536 | 216 - -




o AF FFAE (23298 ~2349)

(2H2l : m¥/s)

2s | A 2328 2339 2348
oA 2o | HIE(%) | old 2ol | HIE(%) | od 28 | HIE(%)
H (4 gkm) 1,822 2,185 119.9 3,015 2,143 711 2,470 2,377 96.2
Ch=2H 133.7 139.5 104.3 358.8 137.3 38.3 166.6 145.0 87.1
stz ST H 0.8 0.7 85.1 0.9 0.7 715 1.2 0.7 57.7
- E = 371.7 366.6 98.6 429.8 324.4 755 532.9 3178 59.6

ISERS! - 0.7 - - 0.7 - - 0.8 -

Ch=AE 69.9 58.3 834 | 201.0 64.0 31.8 92.5 65.5 70.8

— 2T H 17.6 15.0 85.3 15.7 17.2 109.5 16.7 17.5 104.3
I T = - - - - - - - - -
PSRN - 73.6 - - 734 - - 78.3 -
Ch=2cH 57.6 529 91.8 171.7 439 25.6 68.2 48.7 714
23t S5 - - - - - - - - -
2k e - - - - - - - - -
X = X| - 481 - - 82.0 - - 99.5 -
Ch=2H 225 17.7 78.5 61.8 218 353 35.8 247 69.1
of AbZ} ST H 4.1 48 118.2 34 4.8 140.6 3.6 49 138.3
Hh 7~ cH 2.2 05 22.7 3.2 0.6 18.8 49 1.8 36.7
X = X| - 37.2 - - 115.1 - - 82.4 -
« [eHd]2 ot (S22 dird-Efakd, (B2 Mud, [FA2 orE, SAIZ, MRIZ & eIz A AldE =g
- TpE A
(2 m¥s)
2 23.2¢ 23.3¥ ‘23.4¥
A of 4 AZE |HE(%)]| o HZE |HE(%)] o4 HE | HE(%)
| (84 2k me) 686.50 | 649.31 95 793.30 | 692.06 87 941.00 | 735.87 78
Akt 59.65 76.26 128 14470 | 44.60 80 51.43 45.20 88
LA s F 7184 | 60.60 84 20790 | 90.70 113 11250 | 97.70 87
g2 A 2.23 2.64 118 6.20 2.00 84 2.62 2.10 80
ot = 25.01 22.81 91 59.00 18.90 83 21.84 19.80 91
2l st 9.26 8.11 88 26.50 15.60 153 16.44 15.70 96
Mo 0.45 0.30 66 1.30 0.30 60 0.50 0.30 60
= 9 0.70 0.22 31 1.80 0.70 101 0.89 0.70 79
sz ARSI Rl 1.36 0.61 45 3.40 0.60 46 1.39 0.60 43
& 0.37 0.16 43 1.00 0.30 78 0.39 0.30 78
g 15.83 5.00 32 40.10 15.40 100 16.86 15.50 92
= 15.34 19.31 126 63.50 10.40 42 32.25 10.80 33
R 1.57 1.76 112 4.40 1.80 106 1.97 1.80 91
- g ¢ 17.65 16.71 95 49.70 14.30 75 19.33 14.30 74
- oy & 3729 | 33.06 89 11520 | 26.30 59 46.10 | 31.10 67
wxioy | = @ | 1356 | 1179 | & | 3570 | 1520 @ 110 | 1505 | 1520 | 101
T oM 5.46 2.86 52 14.80 3.60 63 16.59 6.30 38
£ ot 0.87 0.75 86 2.30 0.80 90 0.96 0.90 93
7 Ef 2 2.69 3.16 118 6.80 3.30 126 2.78 3.30 119
& = 2.65 2.29 87 9.00 2.20 63 3.16 2.30 73




- g
(ck2 : m¥/s)
2y ‘23.2¥ ‘23.3¥ 2348
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 54200 | 54.736 101 53.800 | 58.859 109 55.600 | 59.714 107
- 2 = 0.496 | 0.380 85 0.523 0.380 70 0.772 0.380 49
== 0.289 0.288 110 0.411 0.288 68 0.386 0.288 75
q A 7.151 5711 88 6.384 8.110 123 6.636 8.110 122
4 = 0.041 0.015 40 0.037 0.050 130 0.077 0.050 65
T = 4340 | 4.211 107 3.995 4220 102 4630 | 4.470 97
Al CH = AbeA 1.777 1.855 116 1.680 1.850 107 1.582 1.850 117
oy et 3.803 | 2.809 82 3.174 | 2.600 79 3.279 2.600 79
o4 = 0.124 0.147 131 0.149 0.150 97 0.231 0.150 65
= A 0.331 0.231 77 0.299 0.230 75 0.309 0.230 75
MRZL = 0 3.720 4514 134 3.136 4510 139 3.241 4.580 141
o M2 4 0.331 0.275 92 0.299 0.320 104 0.309 0.330 107
sk
(ck2 : m¥/s)
2l ‘232¥ 23.3¥ ‘23.4¥
T ofd” | A& |HlE@ | od | AHE  HE% | od | HE | HE%)
A 904.5 890.0 98.4 | 1,159.7 870.6 75.1 | 1,394.0 828.4 59.4
=S| 241 222 92.1 22.5 22.2 98.7 26.9 22.2 82.5
= 26.2 224 85.5 28.7 229 79.8 38.3 226 59.0
st2t o| ot 77.7 98.2 127.3 81.7 718 87.9 928 70.6 76.1
Hg 841 98.7 118.2 97.3 74.0 76.1 117.8 72.0 61.1
| A 3.8 1.1 13.2 6.7 1.8 26.9 7.9 15 19.0
et 155.8 124.0 79.6 192.9 131.7 68.3 249.2 128.9 517
MRAZY | BEMNY 2.2 05 232 3.2 0.6 19.7 49 1.8 36.7
01~20d LM B & WEIHUMURIHF2UREY AR
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2 ‘23.2¢ ‘23.3¢ ‘23.4¢
= ofd | AE |ug%)| od | A= (w8 od | A= |u (%)
ot - - - - 0.000 - - 0.000 -
St 5 - 72.300 - - 72.300 - - 72.300 -
s A2 2 - 0002 - - 0000 | - - 0454 | -
se= 2% - 0.001 - - 0.000 - - 0.760 -
ME 0.140 0.140 0.163
o= - 0.130 - - 0.130 - - 0.204 -
x| A= (2ket) - 0.110 - - 0.110 - - 0.149 -
=4 - 0.057 - - 0.057 - - 0.101 -
Aldbgd - 0.120 - - 0.120 - - 0.127 -
= - 0.010 - - 0.010 - - 0.020 -
= - 0.030 - - 0.030 - - 0.036 -
= - 0.020 - - 0.043 - - 0.059 -
=9 - 0.052 - - 0.063 - - 0.075 -
AbEt - 0.000 - - 0.215 - - 0.463 -
ZHEE - 0.015 - - 0.015 - - 0.013 -
= - 0.032 - - 0.076 - - 0.098 -
HH - 0.110 - - 0.139 - - 0.180 -
H| & - 0.203 - - 0.187 - - 0.187 -
gts - 0.076 - - 0.087 - - 0.137 -
2| - 0.037 - - 0.061 - - 0.082 -
oy = - 0.300 - - 0.492 - - 0.699 -
=2t k=1 - 0.125 - - 0.205 - - 0.255 -
W= - 0.000 - - 0.000 - - 0.000 -
o= - 0.592 - - 0.787 - - 0.970 -
27| - 0.046 - - 0.062 - - 0.076 -
SHA| - 0.024 - - 0.032 - - 0.040 -
2o - 0.083 - - 0.097 - - 0.145 -
E - 0.021 - - 0.019 - - 0.074 -
gat - 0.009 - - 0.008 - - 0.070 -
== - 0.037 - - 0.004 - - 0.052 -
ot - 0.037 - - 0.004 - - 0.060 -
SHA - 0.029 - - 0.020 - - 0.061 -
HEAE - 0.097 - - 0.109 - - 0.215 -
T2 - 0.006 - - 0.005 - - 0.067 -
FES| - 0.830 - - 1.365 - - 1.935 -
HE - 0.048 - - 0.043 - - 0.101 -
=4 - 0.096 - - 0.031 - - 0.172 -
HE - 0.031 - - 0.015 - - 0.154 -
S5 - 0.059 - - 0.183 - - 0.321 -
ZUSHEF - 35.166 - - 66.000 - - 74.400 -
=g - 0.039 - - 0.043 - - 0.065 -
AlCH - 0.038 - - 0.045 - - 0.067 -
A M of ehi =) - 1.495 - - 1.754 - - 2.615 -
=4 - 0.173 - - 0.203 - - 0.303 -
MuUS - 7.556 - - 8.340 - - 12.727 -
= - 0.003 - - 0.132 - - 0.201 -
HHE - 0.000 - - 0.361 - - 0.528 -
=AY =A™ - 0.045 - - 0.000 - - 0.050 -
ME - 0.000 - - 0.167 - - 0.257 -
o S X| - 1.653 - - 1.363 - - 2.370 -
a4 - 0.000 - - 0.000 - - 0.000 -
=4 - 0.025 - - 0.099 - - 0.391 -
oA MY L= - 0.000 - - 0.000 - - 0.000 -
= gels - 0.000 - - 0.000 - - 0.000 -
o= - 0.041 - - 0.041 - - 0.282 -




2328 23.38 2343

of A A=l BIE(%)| od A=l |H[E(%) o4 A =
s - 0.015 - - 0.015 - - 0.096
o - 0.047 - - 0.047 - - 0.047
o= - 0.004 - - 0.000 - - 0.000
e - 0.011 - - 0.011 - - 0.011
2% - 0.008 - - 0.008 - - 0.008
A - 0.003 - - 0.003 - - 0.003
o - 0.000 - - 0.000 - - 0.000
Ex| - 0.015 - - 0.015 - - 0.015
25 - 0.048 - - 0.048 - - 0.048
GLts - 1777 - - 47.400 - - 55.100
Yt - 17.430 - - 63.400 - - 12.300
=2= - 4.012 - - 0.200 - - 5.900
T - 0.007 - - 0.007 - - 0.007
=3 - 0.008 - - 0.008 - - 0.058
= - 0.010 - - 0.010 - - 0.038
=T - 0.030 - - 0.249 - - 0.359
M7z & - 0.003 - - 0.003 - - 0.017
2= - 0.010 - - 0.010 - - 0.010
= - 0.010 - - 0.010 - - 0.101
e - 0.026 - - 0.026 - - 0.115
2= - 0.010 - - 0.115 - - 0.165
=3t - 0.400 - - 0.400 - - 0.718
Sat - 0.000 - - 0.000 - - 0.181
70| - 0.332 - - 0.332 - - 0.629
S Ry =7 - 0.443 - - 0.443 - - 0.687
43 - 0.299 - - 0.299 - - 1.135
o ot - 0.513 - - 0.513 - - 1.418
T3 - 0.007 - - 0.007 - - 0.065
S =4 - 0.015 - - 0.015 - - 0.123
&4 - 0.025 - - 0.025 - - 0.321




A1 3| 9% g ¥ MY
o #F%F dF(s1¥ 71F)

(EF9 = mYE

= 7|2t 233 & '22.12¢ 2318
R PIPSIEpES old | 23 |ulBO| od | 23 |u8E| ol | 28 |uE©
HFrs, dstzim) 99.3 735 74 87.8 70.2 79.8 994 73.9 74.3
ok (2R ZEtiu) 1549| 2443| 1576 158.9] 2255 1418| 1546| 2456| 158.8
Tz, "™ 8.4 8.8 104.9 8.7 85 98.5 8.3 8.8 106.1
jj O F(Ho|d, 5m) 40 48| 1205 46 42 92.6 40 48| 1211
M (EMY, 22m) 53 99| 186.1 35 6.0 1685 53 99| 1835
ol (7l v Eim) 30.6 26.9 88 452 435 96.2 30.5 273 89.5
HEH(otM A, Z2m) 3.2 41 127.9 3.2 37| 1146 3.2 42| 1313
ol M(=R, A=m) 449 355 79.1 35.2 342 974 379 355 93.6
Fol(s, dMm) 55.0 453 824 1376 424 30.8 479 45.0 94.0
L D=y s2orctal) 57.0 521 914 55.2 522 94.7 34.8 52.1 149.7
é NHESR 138W0) 58.2 65.3| 1122 46.2 58.7| 1272 53.5 65.4| 122.3
g gMEes Mzn) 75.6 71.3 94.3 62.8 86.8| 138.3 479 708| 1478
gtok=sz Aual) 106.2| 100.6 94.7 958 1119| 1168 89.5| 1004| 1122
Uoke=s Atztxim) 162.5| 161.0 991 109.6| 150.4| 137.3 982 1615 1645
SMER, oldm) 18.7 16.6 88.4 214 16.1 754 18.7 16.6 88.4
ST(ER, 220 51.6 50.1 97.2 49.3 447 90.7 516 50.1 97.2
=1 2oj(=r, wxm) 60.0 576 96.0 60.2 523 87.0 60.0 576 96.0
& CH ™M (z&, Al m) 10.2 9.9 97.4 10.0 8.4 84.2 10.2 9.9 97.4
MEAl(olsH, eatm) 15.7 19.3] 1223 18.9 18.6 98.3 15.7 19.3] 122.3
Of A Al(Zm A, shfctal) 40 3.1 777 45 3.1 70.0 4.0 3.1 777
%1 24 F ey =22t 15.6 9.2 59.0 10.6 8.3 78.3 15.6 9.2 59.0
;;F LIF@Es, LFim) 61.1 25.0 409 19.3 229 1187 61.1 25.0 40.9
. 2MeEs 220 6.7 109 162.7 8.6 74 86.0 6.7 109| 162.7
g ZTMER oM 11.3 11.3| 100.0 17.3 8.3 48.0 11.3 11.3] 100.0
N TR, axa) 194 17.0 87.6 23.1 129 55.8 19.4 17.0 87.6
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A1 4| ZH0E XNY J|IEL HE
oA ANHYE V|E/FH
o2 J|E FEH(m/s)
o ST zo 27
27| B 2H7] BOHD] B
FEs dstzim) 49.3 43.0 39.4 34.4 24.6 21.5 14.8 12.9
bR es moim) 116.6 96.7 95.5 81.7 80.0 66.7 55.0 55.0
AT ML, "™ m) 2.6 2.2 2.1 1.7 1.3 1.1 0.8 0.7
SHY |dF("oim, g8m) 0.5 0.4 04 0.3 0.2 0.2 0.1 0.1
M (EHY, 220) 1.5 14 1.2 1.1 0.6 0.6 0.3 0.3
Ozl " Ecim) 14.3 7.9 114 6..3 7.1 3.9 4.3 2.4
HEN(otM A, Z2m) 1.0 0.9 0.8 0.7 0.5 0.5 0.3 0.3
o M=s, AZm) 33.0 29.5 26.0 24.0 15.0 14.0 9.0 8.0
Toj(es, dsm) 36.0 35.0 29.0 28.0 16.0 16.0 10.0 10.0
==y s2orctal) 45.0 42.0 36.0 34.0 21.0 19.0 13.0 12.0
S 03 =s nym) 48.0 46.5 38.0 37.0 22.0 21.0 14.0 13.0
gM(es ¥z 55.0 53.0 44.0 42.0 25.0 24.0 15.0 14.0
gtob=m, Aual 67.0 62.0 54.0 50.0 31.0 28.0 18.0 17.0
Uoke=g Atztzim) 73.0 71.0 58.0 57.0 34.0 320 20.0 19.0
SMER, olgim) 11.0 11.0 8.8 8.8 6.2 6.2 4.3 4.3
ST (=R, 220 492 30.0 39.4 24.0 16.2 151 114 10.6
— 2oj(=r, wxm) 50.5 34.0 40.3 27.5 17.8 175 12.5 12.3
= ™M@, a7 75 7.5 6.0 6.0 3.8 3.8 2.3 2.3
ME(o|sx, gatm) 10.5 10.5 8.5 8.5 53 53 3.2 3.9
OfrH=mA, shyctal) 24 2.4 1.9 1.9 1.2 1.2 0.7 0.7
of AFZt A (=8, Zatm) 12.5 8.5 10.0 7.0 55 55 4.0 4.0
LI =R, cigm) 22.5 14.5 16.5 12.0 10.5 10.0 8.0 8.0
2MEs 220 55 4.5 3.5 3.0 2.0 1.5 1.0 0.8
MAZFHE=s oam) 9.5 8.5 75 6.5 50 4.5 35 3.5
TeH(=28, a™al) 21.0 17.0 15.0 13.5 85 8.0 55 55
oFAE #A7] R wlAANT] 7%
N RIS EEEL
A 2717 MESTE]
stz 04.01.~09.30. 01.01.~03.31., 10.01.~12.31.
oA 04.15.~10.15. 01.01.~04.14., 10.16.~12.31.
= 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
A MY 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
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